

THE FOURIER–FABER–SCHAUDER SERIES UNCONDITIONALLY DIVERGENT IN MEASURE

M. G. Grigoryan and A. A. Sargsyan

UDC 517.51

Abstract: We prove that, for every $\varepsilon \in (0, 1)$, there is a measurable set $E \subset [0, 1]$ whose measure $|E|$ satisfies the estimate $|E| > 1 - \varepsilon$ and, for every function $f \in C_{[0,1]}$, there is $\tilde{f} \in C_{[0,1]}$ coinciding with f on E whose expansion in the Faber–Schauder system diverges in measure after a rearrangement.

DOI: 10.1134/S0037446618050087

Keywords: uniform convergence, Faber–Schauder system, convergence in measure

§ 1. Introduction

In the article we describe the structure of a continuous function whose expansion in the Faber–Schauder system diverges in measure after a rearrangement. The Faber–Schauder system $\{\varphi_n(x)\}_{n=0}^{\infty}$ [1] is one of the most popular systems of functions and many articles are devoted to its study (the main properties are presented, for instance, in [2, Chapter 6, Section 1]).

Recall that the Faber–Schauder system is a basis for $C[0, 1]$ (see [3]), i.e., every $f \in C[0, 1]$ is uniquely representable by the series

$$f(x) := \sum_{n=0}^{\infty} A_n(f) \varphi_n(x)$$

in the Faber–Schauder system uniformly convergent to f on $[0, 1]$ (we call it the *Fourier–Faber–Schauder series* of f). The Fourier coefficients $A_n(f)$ of this series are defined as

$$\begin{aligned} A_0(f) &= f(0), & A_1(f) &= f(1) - f(0), \\ A_n(f) &= A_{k,i}(f) = f\left(\frac{2i-1}{2^{k+1}}\right) - \frac{1}{2} \left[f\left(\frac{i-1}{2^k}\right) + f\left(\frac{i}{2^k}\right) \right]. \end{aligned} \quad (1)$$

There are many interesting results on properties of the Faber–Schauder system (see the survey [4] by Ulyanov and also [5–8]). We describe the results that concern those of this article.

As is known, there are no unconditional bases for $C_{[0,1]}$ (see [9]); i.e., there is a continuous function whose Fourier–Faber–Schauder series after some rearrangement does not converge to it in the norm of $C_{[0,1]}$.

The results of [10, 11] demonstrate that the Faber–Schauder system is even more unreliable in this respect.

Theorem A. *There is a function in $C_{[0,1]}$ whose Fourier–Faber–Schauder series diverges in measure after some rearrangement.*

However, it is proven in [12] that changing the values of a continuous function on a set of arbitrarily small measure we can correct this apparent “hopeless” situation (see also [13]) and the Fourier–Faber–Schauder series of the new function converges unconditionally.

The aim of this article is to prove that by changing the values of a continuous function on a set of arbitrarily small measure we can construct a poor function whose Fourier–Faber–Schauder series diverges in measure after some rearrangement.

Moreover, we prove

Theorem 1. For every $\varepsilon \in (0, 1)$, there is a measurable set $E \subset [0, 1]$ such that $|E| > 1 - \varepsilon$ and, for every $f \in C_{[0,1]}$, there is $\tilde{f} \in C_{[0,1]}$ coinciding with f on E whose Fourier–Faber–Schauder series diverges in measure after some rearrangement.

Moreover, the following is established in [14]:

Theorem B. For every $\varepsilon \in (0, 1)$, there is a measurable set $E \subset [0, 1]$ such that $|E| > 1 - \varepsilon$ and, for every $f \in C_{[0,1]}$, there is $\tilde{f} \in C_{[0,1]}$ coinciding with f on E whose Fourier–Faber–Schauder series converges unconditionally in $C_{[0,1]}$.

Thus, Theorems 1 and B justify the following statement: For every $\varepsilon \in (0, 1)$, there is a measurable set $E \subset [0, 1]$ such that $|E| > 1 - \varepsilon$ and, for every $f \in C_{[0,1]}$, we can construct two functions $f_1, f_2 \in C_{[0,1]}$ coinciding with f on E such that the Fourier–Faber–Schauder series of f_1 converges unconditionally in $C_{[0,1]}$ and this series of f_2 diverges in measure after some rearrangement.

It is of interest to find out the analogous aspects of behavior of other bases for the space of continuous functions.

There is proven in [14] that Theorem B fails for the Franklin system (and so it is of interest to answer the question whether there is an orthonormal basis for the space $C[0, 1]$ such that Theorem B holds).

§ 2. Proof of the Main Lemma

The functions of the Faber–Schauder system $\Phi = \{\varphi_n(x)\}_{n=0}^\infty$, $x \in [0, 1]$, are defined as follows: $\varphi_0(x) = 1$, $\varphi_1(x) = x$, and

$$\varphi_n(x) = \varphi_k^{(i)}(x) = \begin{cases} 0 & \text{for } x \notin \Delta_n = \Delta_k^{(i)} \equiv (\frac{i-1}{2^k}, \frac{i}{2^k}), \\ 1 & \text{for } x = x_n = x_k^{(i)} = \frac{2i-1}{2^{k+1}}, \\ \text{is linear and continuous on } [\frac{i-1}{2^k}, \frac{2i-1}{2^{k+1}}] \text{ and } [\frac{2i-1}{2^{k+1}}, \frac{i}{2^k}] \end{cases} \quad (2)$$

for $n = 2^k + i$, $k = 0, 1, \dots$, $i = 1, 2, \dots, 2^k$. Using the definition of the Faber–Schauder system, we can see easily that, for every $f \in C_{[0,1]}$ and every nonnegative integer m , the graph of $\sum_{n=0}^m A_n(f)\varphi_n(x)$ on $[0, 1]$ is a broken line with vertices on the graph of f so that

$$\left\| \sum_{n=0}^m A_n(f)\varphi_n \right\|_C \leq \|f\|_C, \quad m = 0, 1, \dots \quad (3)$$

Lemma. For all $\varepsilon \in (0, 1)$, $\delta > 0$, $B > 0$, $\gamma > 0$, and a positive integer $N_0 > 1$, there are a measurable set $E_\varepsilon \subset [0, 1]$, a polynomial in the Faber–Schauder system of the form

$$P(x) = \sum_{n=N_0}^N A_n \varphi_n(x),$$

a permutation $\{\sigma(n)\}_{n=N_0}^N$ (not unique) of positive integers N_0, \dots, N , and a positive integer $M \in [N_0, N]$ such that

- (1) $|E_\varepsilon| > 1 - \varepsilon$,
- (2) $\delta > |A_{\sigma(n)}| \geq |A_{\sigma(n+1)}| \geq 0$, $n = N_0, \dots, N - 1$,
- (3) $\sum_{n=N_0}^M A_{\sigma(n)} \varphi_{\sigma(n)}(x) > B$ for all $x \in E_\varepsilon$,
- (4) $\|P\|_C < \delta + \gamma$,
- (5) $\frac{\gamma}{2} < P(x) = \text{const} < \gamma$ for all $x \in E_\varepsilon$.

PROOF. Let $N_0 = 2^{k_0} + i_0$ ($i_0 \in [1, 2^{k_0}]$). Choose a positive integer $k > \max\{k_0, \log_2 \frac{4}{\varepsilon}\}$ and for

every positive integer j define numbers $q_j = \sum_{m=k}^{k+j-1} m$ and sequences of indices I_j^1 and I_j^2 such that

$$\begin{aligned} I_j^1 &= \bigcup_{n_1=1}^{2^k-2} \bigcup_{n_2=1}^{2^{k+1}-2} \cdots \bigcup_{n_{j-1}=1}^{2^{k+j-2}-2} \bigcup_{n=2}^{2^{k+j-1}-1} \left\{ \sum_{l=0}^{j-1} n_l \cdot 2^{q_j - q_l} + n \right\}, \\ I_j^2 &= \bigcup_{n_1=1}^{2^k-2} \cdots \bigcup_{n_{j-1}=1}^{2^{k+j-2}-2} \left\{ \sum_{l=0}^{j-1} n_l \cdot 2^{q_j - q_l} + 1; \sum_{l=0}^{j-1} n_l \cdot 2^{q_j - q_l} + 2^{k+j-1} \right\}, \end{aligned} \quad (4)$$

where $n_0 = 0$ and $q_0 = 1$.

Consider

$$E_j = \bigcup_{i \in I_j^1} \Delta_{q_j}^{(i)}, \quad j \in \mathbb{N}, \quad (5)$$

where E_1 is obtained by dividing $[0, 1]$ into 2^k equal parts ($\Delta_{q_1}^{(i)} = \Delta_k^{(i)}$) and discarding the first and last of them, in turn $E_2 \subset E_1$ is obtained from E_1 by dividing each of the intervals $\Delta_{q_1}^{(i)}$ in E_1 into 2^{k+1} equal parts ($\Delta_{q_2}^{(i)} = \Delta_{2^{k+1}}^{(i)}$) and discarding the first and last of them; for every $j > 1$, the set $E_j \subset E_{j-1}$ is obtained from E_{j-1} by dividing each of the intervals $\Delta_{q_{j-1}}^{(i)}$ in E_{j-1} into 2^{k+j-1} equal parts ($\Delta_{q_j}^{(i)} = \Delta_{\frac{2^{k+j-1}}{2}j}^{(i)}$) and discarding the first and last of them.

Put

$$E_\varepsilon = \bigcap_{j=1}^{\infty} E_j. \quad (6)$$

Using the definitions of sequences of indices (4), it is not difficult to see that

$$\begin{aligned} |E_\varepsilon| &= 1 - \sum_{j=1}^{\infty} \sum_{i \in I_j^2} |\Delta_{q_j}^{(i)}| \\ &= 1 - 2 \cdot \frac{1}{2^k} - 2 \cdot \sum_{j=2}^{\infty} \frac{(2^k - 2)(2^{k+1} - 2) \cdots (2^{k+j-2} - 2)}{2^k 2^{k+1} \cdots 2^{k+j-1}} > 1 - \varepsilon. \end{aligned}$$

Next, we consider the system of continuous functions $\{\psi_j(x)\}_{j=1}^{\infty}$ on $[0, 1]$ such that (see (5))

$$\psi_j(x) = \begin{cases} 0 & \text{for } x \notin E_j, \\ 1 & \text{for } x \in E_{j+1}, \\ \text{is linear and continuous} & \text{for } x \in E_j \setminus E_{j+1}. \end{cases} \quad (7)$$

From (6), (7), and (1), it is easy to see that, for every positive integer j , we have

$$E_\varepsilon \subset E_j = \mathcal{S}_{\psi_j}, \quad \|\psi_j\|_C = 1, \quad \psi_j(x) = 1 \text{ for all } x \in E_\varepsilon, \quad (8)$$

$$\psi_j(x) = \sum_{i \in I_j^1} \left(\varphi_{q_j}^{(i)}(x) + \frac{1}{2} \left\{ \sum_{p=1}^{k+j-1} \varphi_{q_j+p}^{(2t_p-1)}(x) + \sum_{p=1}^{k+j-1} \varphi_{q_j+p}^{(2h_p)}(x) \right\} \right), \quad (9)$$

where \mathcal{S}_{ψ_j} is the support of $\psi_j(x)$, $t_1 = h_1 = i = \sum_{l=0}^j n_l \cdot 2^{q_j - q_l} + 1$, $t_{p+1} = 2t_p - 1$, and $h_{p+1} = 2h_p$.

It follows from (5)–(9) that, for all positive integer j and $x_0 \in E_\varepsilon$, we have

$$\varphi_{q_j}^{(i_{x_0})}(x_0) \neq 0 \quad (10)$$

only for the sole index $i_{x_0} \in I_j^1$.

Choose positive integers $K > \delta^{-1}$ and L so that

$$\frac{1}{K} \left(\sum_{l=1}^L \frac{1}{2l-1} - \sum_{l=L}^{2L-1} \frac{1}{2l} \right) > B, \quad (11)$$

and consider the series

$$\frac{1}{K} + \frac{1}{2K} - \frac{1}{2K} + \cdots + \frac{1}{(2m-1)K} + \frac{1}{(2m)K} - \frac{1}{(2m)K} + \cdots = +\infty. \quad (12)$$

Rearrange the summands in (12) by the Riemann scheme (see [15, Chapter 11, Section 4, Subsection 388, the Riemann Theorem]) in order to ensure convergence to γ . The so-obtained summands are denoted by C_j , $j = 1, 2, \dots$; i.e.,

$$\sum_{j=1}^{\infty} C_j = \gamma. \quad (13)$$

Let J be a positive integer such that $C_{J+1} = \frac{1}{(4L-1)K}$. Based on (12) and the Riemann scheme, we can assume that L is so large that

$$-\frac{\gamma}{2} < -\frac{1}{(4L-2)K} < C_J < \sum_{j=1}^J C_j - \gamma < 0 \quad (14)$$

and $\left\{ \frac{1}{mK} \right\}_{m=1}^{4L-2}$ and $\left\{ -\frac{1}{2mK} \right\}_{m=1}^{2L-1}$ belong to $\{C_j\}_{j=1}^J$.
Examine the function

$$Q_J(x) = \sum_{j=1}^J C_j \psi_j(x). \quad (15)$$

Using (9) and (12), we conclude that $Q_J(x)$ is a polynomial $P(x)$ in the Faber–Schauder system of the form

$$Q_J(x) = P(x) = \sum_{n=N_0}^N A_n \varphi_n(x), \quad \text{where } 0 \leq |A_n| < \delta, \quad n = N_0, \dots, N. \quad (16)$$

Next, (7), (8), the scheme of construction of (13) and (14) yield

$$\|P\|_C < C_1 + \gamma < \delta + \gamma, \quad \frac{\gamma}{2} < P(x) = \sum_{j=1}^J C_j < \gamma \quad \text{for all } x \in E_\varepsilon.$$

Let $\{\sigma(n)\}_{n=N_0}^N$ be a permutation of positive integers N_0, \dots, N such that $|A_{\sigma(n)}| \geq |A_{\sigma(n+1)}|$ and let M be a positive integer satisfying

$$|A_{\sigma(M)}| = \frac{1}{(4L-2)K}, \quad |A_{\sigma(M+1)}| < \frac{1}{(4L-2)K}. \quad (17)$$

Denote by $\{\tilde{\sigma}(j)\}_{j=1}^J$ some permutation of positive integers $1, \dots, J$ such that $|C_{\tilde{\sigma}(j)}| \geq |C_{\tilde{\sigma}(j+1)}|$ (obviously, $\{\tilde{\sigma}(j)\}_{j=1}^J$ is not a unique permutation). In view of (9), (10), (12)–(17), it is easy to see that, for every $x \in E_\varepsilon$, we have

$$\begin{aligned} \sum_{n=N_0}^M A_{\sigma(n)} \varphi_{\sigma(n)}(x) &= \frac{1}{K} \sum_{l=1}^{L-1} \left\{ \frac{\psi_{\tilde{\sigma}(3l-2)}(x)}{2l-1} + \lambda_{\tilde{\sigma}}^{2l} \frac{\psi_{\tilde{\sigma}(3l-1)}(x)}{2l} - \lambda_{\tilde{\sigma}}^{2l} \frac{\psi_{\tilde{\sigma}(3l)}(x)}{2l} \right\} \\ &+ \frac{\psi_{\tilde{\sigma}(3L-2)}(x)}{(2L-1)K} + \frac{1}{K} \sum_{l=L}^{2L-2} \left(\lambda_{\tilde{\sigma}}^{2l} \frac{\varphi_{q_{\tilde{\sigma}(3l-1)}^{(i_x)}}(x)}{2l} - \lambda_{\tilde{\sigma}}^{2l} \frac{\varphi_{q_{\tilde{\sigma}(3l)}^{(i_x)}}(x)}{2l} + \frac{\varphi_{q_{\tilde{\sigma}(3l+1)}^{(i_x)}}(x)}{2l+1} \right) \\ &+ \frac{1}{K} \left(\lambda_{\tilde{\sigma}}^{4L-2} \frac{\varphi_{q_{\tilde{\sigma}(6L-4)}^{(i_x)}}(x)}{4L-2} - \lambda_{\tilde{\sigma}}^{4L-2} \frac{\varphi_{q_{\tilde{\sigma}(6L-3)}^{(i_x)}}(x)}{4L-2} \right), \end{aligned}$$

where λ_{σ}^{2l} , $l = 1, \dots, 2L - 1$, is equal to 1 or -1 in dependence on $\{\tilde{\sigma}(j)\}_{j=1}^J$. Hence, by (8), (11), and the definition of (2), we establish that

$$\sum_{n=N_0}^M A_{\sigma(n)} \varphi_{\sigma(n)}(x) > \frac{1}{K} \left(\sum_{l=1}^L \frac{1}{2l-1} - \sum_{l=L}^{2L-1} \frac{1}{2l} \right) > B \quad \text{for all } x \in E_{\varepsilon}.$$

The lemma is proven.

§ 3. Proof of Theorem 1

To prove Theorem 1, we need the following

Theorem 2. For every $\varepsilon \in (0, 1)$, there are a measurable set $E \subset [0, 1]$ with $|E| > 1 - \varepsilon$, $f_0 \in C_{[0,1]}$, a permutation $\sigma(n)$ of positive integers, and some sequences of positive integers $\{M_k\}_{k=1}^{\infty}$ and $\{N_k\}_{k=1}^{\infty}$ such that

- (1) $f_0(x) = 0$ for all $x \in E$,
- (2) $\lim_{k \rightarrow \infty} \left\| \sum_{n=0}^{N_k} A_{\sigma(n)} \varphi_{\sigma(n)} - f_0 \right\|_C = 0$,
- (3) $\lim_{k \rightarrow \infty} \sum_{n=0}^{M_k} A_{\sigma(n)} \varphi_{\sigma(n)}(x) = +\infty$ a.e. on $[0, 1]$.

PROOF. Let ε be an arbitrary real number in $(0, 1)$. Apply the lemma on assuming that $\varepsilon = \frac{\varepsilon}{2}$, $\delta = 1$, $B = 1$, $\gamma = 1$, and $N_0 := N_1 + 1 = 2$ in the formulation. We can find a measurable set $E_1 \subset [0, 1]$, a polynomial of the form

$$P_1(x) = \sum_{n=N_1+1}^{N_2} A_n^{(1)} \varphi_n(x),$$

a permutation $\{\sigma_1(n)\}_{n=N_1+1}^{N_2}$ of positive integers $N_1 + 1, \dots, N_2$, and a positive integer $M_1 \in (N_1, N_2]$ such that

$$|E_1| > 1 - \frac{\varepsilon}{2},$$

$$1 > |A_{\sigma_1(n)}^{(1)}| \geq |A_{\sigma_1(n+1)}^{(1)}| \geq 0, \quad n = N_1 + 1, \dots, N_2 - 1,$$

$$\|P_1\|_C < 2, \tag{18}$$

$$\frac{1}{2} < P_1(x) := p_1 < 1 \quad \text{for all } x \in E_1, \tag{19}$$

$$\sum_{n=2}^{M_1} A_{\sigma_1(n)}^{(1)} \varphi_{\sigma_1(n)}(x) > 1 \quad \text{for all } x \in E_1.$$

It follows from (3), (18), and (19) that

$$\max_{N_1+1 \leq m \leq N_2} \left\| \sum_{n=2}^m A_n^{(1)} \varphi_n \right\|_C = \|P_1\|_C < 2$$

and

$$0 < 1 - p_1 < \frac{1}{2}. \tag{20}$$

Denote by a_1 the least number among the modules of the coefficients $A_n^{(1)}$ occurring in $P_1(x)$; i.e., $a_1 := \min\{|A_n^{(1)}| \neq 0, n \in (N_1, N_2]\}$. Apply the lemma again on assuming that $\varepsilon = \frac{\varepsilon}{4}$, $\delta = \frac{a_1}{2}$, $B = 2$, $\gamma = 1 - p_1$, and $N_0 = N_2 + 1$ in its formulation. We can define a measurable set $E_2 \subset [0, 1]$, a polynomial of the form

$$P_2(x) = \sum_{n=N_2+1}^{N_3} A_n^{(2)} \varphi_n(x),$$

a permutation $\{\sigma_2(n)\}_{n=N_2+1}^{N_3}$ of the numbers $N_2 + 1, \dots, N_3$, and a positive integer $M_2 \in (N_2, N_3]$ satisfying the conditions

$$\begin{aligned} |E_2| &> 1 - \frac{\varepsilon}{4}, \\ \frac{1}{2} &> \frac{a_1}{2} > |A_{\sigma_2(n)}^{(2)}| \geq |A_{\sigma_2(n+1)}^{(2)}| \geq 0, \quad n = N_2 + 1, \dots, N_3 - 1, \\ \|P_2\|_C &< 1, \end{aligned} \tag{21}$$

$$\frac{1-p_1}{2} < P_2(x) := p_2 < 1-p_1 \quad \text{for all } x \in E_2, \tag{22}$$

$$\sum_{n=N_2+1}^{M_2} A_{\sigma_2(n)}^{(2)} \varphi_{\sigma_2(n)}(x) > 2 \quad \text{for all } x \in E_2.$$

Relations (3) and (20)–(22) yield

$$\max_{N_2+1 \leq m \leq N_3} \left\| \sum_{n=N_2+1}^m A_n^{(2)} \varphi_n \right\|_C = \|P_2\|_C < 1 \quad \text{and} \quad 0 < 1 - p_1 - p_2 < \frac{1}{4}.$$

Arguing as before, for every integer $k > 1$, by induction we can define a measurable set $E_k \subset [0, 1]$, a polynomial

$$P_k(x) = \sum_{n=N_k+1}^{N_{k+1}} A_n^{(k)} \varphi_n(x), \tag{23}$$

a permutation $\{\sigma_k(n)\}_{n=N_k+1}^{N_{k+1}}$ of positive integers $N_k + 1, \dots, N_{k+1}$, and a positive integer M_k such that

$$|E_k| > 1 - \varepsilon 2^{-k}, \tag{24}$$

$$\begin{aligned} \frac{1}{2^{-k+1}} &> \frac{a_{k-1}}{2} > |A_{\sigma_k(n)}^{(k)}| \geq |A_{\sigma_k(n+1)}^{(k)}| \geq 0, \quad n = N_k + 1, \dots, N_{k+1} - 1, \\ \|P_k\|_C &< 2^{-k+2}, \end{aligned} \tag{25}$$

$$\frac{1 - \sum_{l=1}^{k-1} p_l}{2} < P_k(x) := p_k < 1 - \sum_{l=1}^{k-1} p_l \quad \text{for all } x \in E_k, \tag{26}$$

$$\sum_{n=N_k+1}^{M_k} A_{\sigma_k(n)}^{(k)} \varphi_{\sigma_k(n)}(x) > k \quad \text{for all } x \in E_k, \tag{27}$$

where $a_{k-1} = \min \{|A_n^{(k-1)}| \neq 0, n \in (N_{k-1}, N_k]\}$, and

$$0 < 1 - \sum_{l=1}^{k-1} p_l < 2^{-k+1}. \tag{28}$$

From (3), (25), (26), and (28), we derive that

$$\max_{N_k+1 \leq m \leq N_{k+1}} \left\| \sum_{n=N_k+1}^m A_n^{(k)} \varphi_n \right\|_C < 2^{-k+2}, \tag{29}$$

$$0 < 1 - \sum_{l=1}^k p_l < 2^{-k}. \tag{30}$$

Inequalities (25) and (29) imply that the series $-\varphi_0(x) + \sum_{n=2}^{\infty} A_n \varphi_n(x)$, where $A_n = A_n^{(k)}$, $n \in (N_k, N_{k+1}]$, converges uniformly on $[0, 1]$.

Put

$$\begin{aligned} f_0(x) &:= -\varphi_0(x) + \sum_{n=2}^{\infty} A_n \varphi_n(x) = -\varphi_0(x) + \sum_{k=1}^{\infty} P_k(x) \\ &= -\varphi_0(x) + \sum_{k=1}^{\infty} \sum_{n=N_k+1}^{N_{k+1}} A_n^{(k)} \varphi_n(x) = -\varphi_0(x) + \sum_{k=1}^{\infty} \sum_{n=N_k+1}^{N_{k+1}} A_{\sigma_k(n)}^{(k)} \varphi_{\sigma_k(n)}(x), \end{aligned} \quad (31)$$

$$\sigma(n) = \sigma_k(n), \quad n \in (N_k, N_{k+1}], \quad (32)$$

$$E' := \bigcup_{n=1}^{\infty} \bigcap_{k=n}^{\infty} E_k, \quad E'' := \bigcap_{k=1}^{\infty} E_k \subset E_k. \quad (33)$$

Relying on (24), (26), (30), (31), and (33), we can easily see that

$$|E'| = 1, \quad |E''| > 1 - \varepsilon, \quad f_0(x) = -1 + \sum_{k=1}^{+\infty} p_k = 0 \quad \text{for all } x \in E''$$

and, for every $x \in E'$, there is a positive integer k_x such that $x \in E_k$ for all $k \geq k_x$. Hence, from (27) and (32) we conclude that

$$\sum_{n=N_k+1}^{M_k} A_{\sigma(n)} \varphi_{\sigma(n)}(x) > k$$

for all $k \geq k_x$ and so, in view of (25), (31), and (32), for every $x \in E'$ as $k \rightarrow +\infty$, we have

$$\begin{aligned} -\varphi_0(x) + \sum_{n=2}^{M_k} A_{\sigma(n)} \varphi_{\sigma(n)}(x) &= -\varphi_0(x) + \sum_{l=1}^{k-1} \sum_{n=N_l+1}^{N_{l+1}} A_{\sigma(n)} \varphi_{\sigma(n)}(x) \\ &+ \sum_{n=N_k+1}^{M_k} A_{\sigma(n)} \varphi_{\sigma(n)}(x) \geq \sum_{n=N_k+1}^{M_k} A_{\sigma(n)} \varphi_{\sigma(n)}(x) - \left\| \sum_{l=1}^{k-1} P_l \right\|_C - 1 > k - 5 \rightarrow +\infty; \end{aligned}$$

on the other hand, the series

$$-\varphi_0(x) + \sum_{n=2}^{N_k} A_{\sigma(n)} \varphi_{\sigma(n)}(x) = -\varphi_0(x) + \sum_{l=1}^{k-1} P_l(x)$$

converges to $f_0(x)$ uniformly on $[0, 1]$.

Theorem 2 is proved.

Note that Theorem 2 is stronger than Theorem A, since in the former we constructed a continuous function that differs from zero only on a set of arbitrarily small measure whose Fourier–Faber–Schauder series diverges in measure after some rearrangement. Note that also the absolute values of the nonzero coefficients in this rearrangement are enumerated in decreasing order.

Let $\varepsilon \in (0, 1)$ be arbitrary. Find the sets $E_1 \subset [0, 1]$ and $E_2 \subset [0, 1]$, with $|E_1| > 1 - \frac{\varepsilon}{2}$ and $|E_2| > 1 - \frac{\varepsilon}{2}$, from the formulations of Theorems B and 2, respectively, and consider the set $E = E_1 \cap E_2$, which is a subset of E_1 and E_2 simultaneously, such that $|E| > 1 - \varepsilon$. Given $f \in C_{[0,1]}$, by Theorem B we can find $f_1 \in C_{[0,1]}$ that coincides with f on E whose Fourier–Faber–Schauder series converges unconditionally in $C_{[0,1]}$; on the other hand, by Theorem 2 we can construct $f_0 \in C_{[0,1]}$ vanishing on E whose series diverges in measure after some rearrangement. It is easy to see that the series of $f_2 = f_1 + f_0$ (which coincides with f on E) diverges in measure again after some rearrangement.

References

1. Faber G., “Über die Orthogonalenfunctionen des Herrn Haar,” *Jahrsber. Deutsch Math. Verien.*, vol. 19, 104–113 (1910).
2. Kashin B. S. and Saakyan A. A., *Orthogonal Series*, Amer. Math. Soc., Providence (1999).
3. Schauder J., “Zur Theorie stetiger Abbildungen in Functionalraumen,” *Math. Z.*, Bd 26, 47–65 (1927).
4. Ulyanov P. L., “Representation of functions by series and classes $\varphi(L)$,” *Russian Math. Surveys*, vol. 27, no. 2, 1–54 (1972).
5. Krotov V. G., “Representation of measurable functions by series in the Faber–Schauder system, and universal series,” *Math. USSR-Izv.*, vol. 11, no. 1, 205–218 (1977).
6. Krotov V. G., “On universal Fourier series in the Faber–Schauder system,” *Vestnik Moskov. Univ. Ser. I Mat. Mekh.*, vol. 4, 53–58 (1975).
7. Grigorian M. G. and Krotov V. G., “Luzin’s correction theorem and the coefficients of Fourier expansions in the Faber–Schauder system,” *Math. Notes*, vol. 93, no. 2, 217–223 (2013).
8. Grigorian M. G., Galoyan L. N., and Kobelyan A. X., “Convergence of Fourier series in classical systems,” *Sb. Math.*, vol. 206, no. 7, 941–979 (2015).
9. Karlin S., “Bases in Banach spaces,” *Duke Math. J.*, vol. 15, 971–985 (1948).
10. Bochkarev S. V., “Series with respect to the Schauder system,” *Math. Notes*, vol. 4, no. 4, 763–767 (1968).
11. Grigoryan M. G. and Sargsyan A. A., “Non-linear approximation of continuous functions by the Faber–Schauder system,” *Sb. Math.*, vol. 199, no. 5, 629–653 (2008).
12. Grigoryan M. G. and Sargsyan A. A., “Unconditional C-strong property of Faber–Schauder system,” *J. Math. Anal. Appl.*, vol. 352, 718–723 (2009).
13. Menchoff D., “Sur la convergence uniforme des séries de Fourier,” *Mat. Sb.*, vol. 53, no. 2, 67–96 (1942).
14. Grigoryan M. G. and Grigoryan T. M., “On the absolute convergence of Schauder series,” *Adv. Theor. Appl. Math.*, vol. 9, no. 1, 11–14 (2014).
15. Fikhtengolts G. M., *A Course of Differential and Integral Calculus*. Vol. 2 [Russian], Nauka, Moscow (1970).

M. G. GRIGORYAN
YEREVAN STATE UNIVERSITY, YEREVAN, ARMENIA
E-mail address: gmarting@ysu.am

A. A. SARGSYAN
RUSSIAN–ARMENIAN UNIVERSITY, YEREVAN, ARMENIA
E-mail address: asargsyan@ysu.am